Xl = 'ZX; "‘X:.t
X=Xy
X3 3""3)(:,
X=X

(L) -SM Lﬁkj L(.oow/:-tr‘w chM.u)rijzj }}.c_(m 72\!}17

11T A Ledasten — — —

@) Hee, row- mlu fm alit diCEreT becpune 22650, 5 L

L B2 3 ~3 ooao =/ 0000
36 1 | y oo v 6000
P :(l)
[
3




| @l ¢ 3-38 /U= B
ppe ' o K6 | -l & 118 |

s BT s s s e

\ i —eot Sg ¢9.22

o Radlow 5ol (Y 7 6Y e ) \
: ; o () L 2 ;(8 } G 0 3 6]
® o) ! o @® 20
13 & reduced <chdas Lauboi L. o o %e -

; @) (a)..i( A In REF‘ ,D'“-n Lr:_hgf;‘y % RREF Jinv_alhftj(l)nwﬁiy(yﬁ‘y oS Ly nmwn
scalons hmoke he [eadiig erdvies ﬂqud bo {. This deten' T a et
whith endvies se O Versus nif 0, <o doesn’T ow De lscalToms of e
}u.!ll\v] erdvies. e s Dan aph.d'nv\ s ) au.pﬂ &Mﬂ§y(£ aqc RJ h i
. )>1 o clear Me nam-12m e dyiel abar 4 /cwlz%, ety Since
i, Tre leadivy aadvy of Ri s wnafectid; ez ndeed, De kD entry
R.) s 0 ‘FUL tvq-kf-fl so The ‘GD’)T IhJ?'»‘eJJl R; are Umalﬁctd"b(. Qen
(W Rew(A')= Row (A) = Rew (RREFLA)). e pravt we gamc i oy shadey Bt e
Now=-Tero YdN'S a{ RﬂFF(A) awaALunat }ZW(AJ wa,(_s als is ﬁnA'.

@3 (‘9’) Ly yrm Mg be P gren Lasiy % Nul(A/ < I Wy 4= “rtvoxst“'a( v =24
: : - [ 8% n
Lie- i€ V*’("‘?*) Jho Wm-f"'(:t;-‘)) c MiTe WEt O Vi sinee 857 .

_ Sin ; > CﬁJm'mf’ on h‘nd.tp (L Vi, Vi D
. ) n»"hfm‘)‘r i a4 bas.
_C’Mm 4 ’D\L 'F[rs"' hew-14% erV'( r& V., WJH*?’ is 1 :
poft A K> )4, dppemo boapjizl. QD Wari- (4

Cloam): The Ty mal” &gy i wﬁfyrz Wy i <bove ot of T5Ti
Pl Jrg €t 50 Arac=0 fo k2 )y QFY



2

3

3

2

2


) entd) -- A =
 Lam3 e Y?a,m; W, Wy, Wy Al D( Yaw s a‘F aM”YI}(AP"- ICWLEH%.’V\{:J{ Yowy
is le arly pm-2en an?Yy inits column.
w M—T_A” ¥, ,Bwh‘)‘-( ]Ml W}ﬂy J] Wr;sshcﬁlmn A+l-j¢ .
For sér, ke dﬂ-J,.lery a'fws is e J+ or\’fYy d:FVd,,_]._J
Non d4 =54 drl-1r=f 50 Je )t _MJYy& of Va+l-s=o QED.
Teted clome haw FThat A is 5 RREF.

(u JJ C= O =3 -3 ] (D Ceesreetaieity ! @ 0 —6
Sy A o 6® %S c = ;1
0. .5 -3% O 0 N2 5 5 o %
| o -6U & o Jl jo 006 00
— —d
i e DY i
Y 1Y e
So Sﬁmivn\f&ﬂf}“q} Spv.i o){ {5“’ i o @ O 1y
U6 8)l|\ o 0o @ s
O o 0 O

ook A= 1~ % - ety e
S - IR 2 N | N 411 O LT
(o]

2 Vgeﬂz
6)%%514‘1 1€R. TET(1=0, pom 2%, PG T(L)= T(b 1) b1 =0

o T=T« .{BVO(fo. Vb €k
Sy TR0, Ll o= TCH), Boa  TCL) =TC-9) = b T = bt =
So T=Ty 4 w=TC) (ih all qases). CQ,£U ;
O 14 b.b €f™ D (ALeb))- E_A,-kuk,q.;) ~3 Bbar el

= (At} +(Ad'); /
T 2eF Jon (AGL); £ Al -2 2 Aiebe= (AN
Qa



@] T(O =T(0+0) = T(0) + 10) add =T0) D LD\ <ol
s 0=TC0) v~
@ T +T(-v) = T(v+ev))= T() =0
$s T(~v)=~Tlv)

@ fa v, va V' 4 deF T}v,(“v,_) T, +v,)—‘r(v,) +T(w) T/w(v‘)ﬂl(v;)
A Tl )=TCxw) = = T0) = ATy () a5

Gv) Jor TGv), T(v) STl Lsvi ev')
T T+ Tva) & =T(v,7va ) ETIV') Sphee wisr, €U/ L7
|k NeF. Av. €V 5y BB ATW)= TOW) €T() ¥

W) ld v, vy €Ekat(r), Den Tlown) =T} +TW) 0400 —

e &FmAeF 'Jm'f) AT(v)=2-0=0 v~

Wil) Lt wé m(T). Pen 3vEV et Tlv)=w.
F oy, (W EF s v,,ﬂv,‘éfv, :éI‘S .« Zo( v, =Y.

Ft

jl‘\ W:TCV)"T(_?_Q;V‘-):_ éo(:T(_V(')
I=1 1=
$o W &Spen | TWi): i€T) 4. w (T)=Spee { Tlvi) 11€I) QED



	Page 1

